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Ontbind in factoren.

) @®+2ab+ bR = (a*l)z
) p2+2pq+q2=[F+q,)z
= (xeg)’
(a-4)
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) 25x2—10x+1:(5'l— 1)

3) X24+2xy+Yy

a* —2ab + b* =

‘J_

2
n) at-4x2+4= (762-—2)
2
) 25x%—20x%+4 = (S‘kl— Z)
2
13) 81p2+90pq+25q2=(3[>+$'q,)
2
W) 144p? —24p+1= (12p—1)

2
15) 22542 +30a+1= (/s'a.+/)

2
1) 81t - 90x%y +25)? = (91 $Y)
3 3
2) 2528+ 120x%° + 144y° = (S +12Y

23) 23t —8x2+ 8= 2(1 '17L+‘I)

&2 {3t
24) - 612 +9x—7((w," 57&-*5)
=x (x-3)*
%) ~500" ~20a~2 = ~2(25a"+iot +1)
- -z(m-r-/)
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7)

8)

10)

16)

28)

29)

30)

2
64x% —48x +9 = (8""3)
a*-20a+100= (a~-1r0)
2
49¢* +28cd +4d* = (3¢ +2o()
2
2+10c+25= (C+S)

2
4a? —20ab+2552 = (24 - s4)

2
121 +22x 4 x2 = X+ 20120 = (x4 0)

- (1ox-74)

2
12124 + 1322 + 36 = (W % +6)

100x2 — 140xy + 49y?

Yy 2 2
36 + 1324% + 121a* = 121+ 13m+3[=[1m +{)

9p* —6p* +1= (3 pz--l)z

1242 — 36ab? + 2763 = 34 (1a*~ 126 +gl)

—3A(za 34)
—9x3y 4 30x2y2 — 25xy° = — 7(?(31-—30)(0!;1-23'3 )
= -ny (3n- rg)
3p? +36p° +108p 3 (P +)z_§>+3£)
% Cprs

x® —32x% + 256 = (x - 14)

—2x5 +48x3 - 288x = — 2X (71 2Y X 't/‘f'f)
= -Z)L()L —Il)
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